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When you charge an object by touching it by another charged object, the process is called
charging by .............. o
oda (il dules (8 (O gadia JAT priad diaddla Bk (8 auea (i e 1)

e Gaoh F () e

conduction

s




The free positive charge distribution over the surface of two isolated spheres is shown in
the diagram. Which of the following is correct for the two spheres?

Conductor Insulator
ila ga idsle

Conductor Conductor
ilaga | :‘u..a 0




A light bulb has a resistor of (100 ) is connected to a (220 V) power supply. What is the

current the light bulb draws?
TSl zluaall dsa ol Ll 30di L (220 V) AlgS sdaas Jsaga (100 Q) 4da glia il 148 7luaa




Which of the following equations is a correct formula for electric charge ¢, knowing that 7/ and ¢

represent current and time, respectively?
F ol Jiad 7 g i) Bad Jiad il 131 ¢ ¢ Ay <)) Adanill dasais 30 ) (e s




Consider two parallel plates with (12 V) potential difference between them. How much

work is done on a proton to move it from the negative plate to a positive plate?
dasbuall (oo 4Bl 05593 A5 Jgdaall SR J1Ea L (12 V) 5 gboas Loy ) (52 (51 s Qlinsdaa
daa gall dasbiall ) dulled)

1.9x10-18 3




How many electrons have been removed from a positively charged electroscope if it has a
net charge of (1.6x 10 % C)?
(1.6% 10 8 () Aliad dluasa 5 6S5 Ladie ddadll caa ga Al S CILES (e Lgall 3] a3 Al @l g sty sae S

1.0x 106




In the figure, two isolated bodies (A and B) are suspended freely. Which of the following
can be correct about the charge type on the two bodies?

A B
Positive Negative
A ga Al

A

B

Negative

Al

Positive
4ua ga

O]

A B
Negative Negative
Aol dallu




When a body is charged by another body, the charge gained by the first
bodyis ... ... ... ... ... ... the charge lost by the other.

@&m*@‘a@;\;&?wmtsewwéhm
AW acead) W s SN ASs N JsV acuall

equal



Which of the physical quantities below is defined as “The amount of force acting on a
positive test charge divided by the amount of the test charge”?

Lo gua daa gall HLOAY) Al Ao 5 Jigall 5 6811 jla8a "' Lgdl o b e dadlal) dails Judl) cliasl) Ga s
O LAY ddad Hlaa e

Electric field intensity
) Jadd 5




What is the potential difference between two parallel plates that are (0.12 m)
apart with an electric field of (2.5 X 10> N/C) between the two plates?

(5 9t Adlesa Lagia Jualli () gia (pfinalea G 142l (358 La

f(2.5X10 > N/C) s sbess bagin AL ¢Sl Jlaall 9 (0.12 m)




When you charge an object by touching it by another charged object, the process is called
charging by ...
oda Caddl dales (B ¢ gadia LAT el Aiiiddla Bk (8 pin (i Cual 1)

et ees Gioh (P (addl i

excess electrons
Juzaild 'd..'ig ]




Considering the intensity of the electric field lines shown in the figure, if the negative
charge is equal to (-12 pC). What is the charge of the positive charge?
(12 pC) s sbead Adload) Adaid) cullS 1) JEA 2 Gl Al ) Jlaall Ja ghad ABEST faliin)
fdga gal) Adaddl a8 La

48 uC




Which of the following is not a valid unit for the measurement of the electric power?
Pal <l 5 a8l Guld Clda g e ool L Laa s

Joul.second




What is the electric force between the two charges in the figure?

SN A Cpiiadll (e Adalitall Al g <) 3 681 laka La

5.0x1016C 6.0x10-16C
0.4m
= -

1.7x10 20 N




